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PERCENT PROBLEMS USING DIAGRAMS 5.1.1and5.1.2




image2.png
Example 1

Sam’s Discount Tires advertises a tire that originally cost $50 on sale for $35.

What is the percent discount? part of the whole S0 — whole
tire
R
A possible diagram for this —S150ff ™
situation is shown at right: |—|—|; o "
—

part of 100%

In this situation it is easy to reason that since the percent number total (100%) is twice the cost
number total ($50), the percent number saved is twice the cost number saved and is therefore a

30% discount. The problem could also be solved using a proportion % = % .
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Problems
Use a diagram to solve each of the problems below.

1.

Sarah’s English test had 90 questions and she got 18 questions wrong. What percent of
the questions did she get correct?

Cargo pants that regularly sell for $36 are now on sale for 30% off. How much is the
discount?

The bill for a stay in a hotel was $188 including $15 tax. What percent of the bill was the
tax?

Alicia got 60 questions correct on her science test. If she received a score of 75%, how
many questions were on the test?

Basketball shoes are on sale for 22% off. What is the regular price if the sale price is $42?

Sergio got 80% on his math test. If he answered 24 questions correctly, how many
questions were on the test?
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COMPOUND EVENTS AND COUNTING METHODS
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Problems

Assume in each of the problems below that events are independent of each other.

1.

One die, numbered 1,2,3,4, 5, and 6, is rolled. What is the probability of rolling either a
1ora6?

Mary is playing a game in which she rolls one die and
spins a spinner. What is the probability she will get both S
the 3 and black she needs to win the game? .’

A spinner is divided into eight equal sections. The

sections are numbered 1,2,3,4,5,6,7, and 8. What is the probability of spinning a 2, 3,
ora4?

Patty has a box of 12 colored pencils. There are 2 blue, 1 black, 1 gray, 3 red, 2 green,
1 orange, 1 purple, and 1 yellow in the box. Patty closes her eyes and chooses one pencil.
She is hoping to choose a green or a red. What is the probability she will get her wish?
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Use the spinners at right to tell Paul what his chances are

of getting the silver truck he wants. m

On the way to school, the school bus must go through two traffic signals. The first light is
green for 25 seconds out of each minute, and the second light is green for 35 seconds out of
each minute. What is the probability that both lights will be green on the way to school?




